— e e o
g gl s =93
E= MY/HIE o|O|X]
> MY
THE:
)

AHQIYA AE!1.4305.

AE|QIFA AE!1.4404.

S20E.

EM O]

A% A3l O E|E AR AEI 120 A3 7

Aodxdo 2 ntRE|E AHIQIHA AEl1.4305, AE|IQIB|A AE!I A2-70
ATJF,

Aodxio 2 Ot R 2| AHIQIBA AE!1.4404, AE|QIB|IA AR A4-70
ATJF,

AAxo Z ntFR2E R0, AHQHA AR A2-70 A3 7.

HH.

Q& EO| U 2 E 22 #US ST MAZEE EXWL
Ct. O|2ZM AFZE &4 METS

2 B¥ELICH

AZE Q&M= h11 O|Lio{ofF &fL|C}.

i3
H
o
fo
Ik

o Z0| {o{ LiE &0 U= Mol HIsH =ICH 15%
Z2E 0|8 = UALICH 207} HEHE *XIstod MZEE
& 5| SSIMAl Euch 27 Yol ZAg L

AEIQIBIA AR A4 ARHO| BT Y oAZol &2 FAHO| EAIE

-40 °C ~+175 °C

Al

CHE xl=.

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



3L (=)
SYd g, e US
EZS 29
Sug Yy ess
FEHS SEf Bt =X A& ARl T B © DI D2 R
(DIN 912)
K0611.100401 - AEl - 9 M3x8 4 16 20,7
K0611.100501 - AEl - 9 M3x8 5 16 207
K0611.100601 - AE - 9 M3x8 6 16 207
K0611.100801 - A€l - 9 M3x8 8 18 224
K0611.101001 - AEl - 9 M3x10 10 24 26
K0611.101201 - AEl - 11 M4x12 12 28 318
K0611.101501 - AE - 13 M5x16 15 34 394
K0611.101601 - AEl - 13 M5x16 16 34 394
K0611.101801 - AE| - 13 M5x16 18 36 41,1
K0611.102001 - AE - 15 M6x18 20 40 464
K0611.102201 - AEl - 15 M6x18 22 42 48,1
K0611.102501 - AE| - 15 M6x18 25 45 50,8
K0611.102801 - AE - 15 M6x18 28 48 537
K0611.103001 - AEl - 15 M6x18 30 54 586
K0611.104001 - AE - 15 M6x18 40 60 65
K0611.105001 - AE - 19 M8x25 50 78 87
K0611.100402 - AE|QIEA AE 1.4305 9 M3x8 4 16 20,7
K0611.100502 - AE|QIEA AE 1.4305 9 M3x8 5 16 207
K0611.100602 - AE|RIEA AL 1.4305 9 M3x8 6 16 207
K0611.100802 - AE|QIEA AE 1.4305 9 M3x8 8 18 224
K0611.101002 - AE|QIEA AE 1.4305 9 M3x10 10 24 26
K0611.101202 - AE|QIEA AE 1.4305 11 M4x12 12 28 318
K0611.101502 - AE|QIEA AE] 1.4305 13 M5x16 15 34 394
K0611.101602 - AE|QIEA AE 1.4305 13 M5x16 16 34 394
K0611.101802 - AE|QIEA AE 1.4305 13 M5x16 18 36 41,1
K0611.102002 - AHQIFA AE 1.4305 15 M6x18 20 40 464
K0611.102202 - 2E|QlEA AE 1.4305 15 M6x18 22 42 48,1
K0611.102502 - AE|QIEA AE 1.4305 15 M6x18 25 45 50,8
K0611.102802 - AHQIFA AE 1.4305 15 M6x18 28 48 537
K0611.103002 - AE|QIEA AE 1.4305 15 M6x18 30 54 586
K0611.104002 - AE|QIEA AE 1.4305 15 M6x18 40 60 65
K0611.105002 - AEQIFA AE 1.4305 19 M8x25 50 78 87
K0611.100404 Q|Eof &8 AHQIFA AEI A4 1.4404 9 M3x8 4 16 20,7
K0611.100504 Qo] &% AH|QIFA AEI A4 1.4404 9 M3x8 5 16 207
K0611.100604 QIR0 &3 AHQIFA AEI A4 1.4404 9 M3x8 6 16 207
K0611.100804 Qo] &3 AHQIHA AR A4 1.4404 9 M3x8 8 18 224
K0611.101004 Qo] &% AHQIFA AEI A4 1.4404 9 M3x10 10 24 26
K0611.101204 Q|20 23! AHQIFA AEI A4 1.4404 11 M4x12 12 28 318
K0611.101504 Qo] &3 AHQIHA AR A4 1.4404 13 M5x16 15 34 394
K0611.101604 Qo] &% AHQIFA AEI A4 1.4404 13 M5x16 16 34 394
K0611.101804 Qfof &£ AE|QIEA AE A4 1.4404 13 M5x16 18 36 41,1
K0611.102004 Qo] &% AHQIHA AR A4 1.4404 15 M6x18 20 40 464
K0611.102204 Qo] &% AH|QIFA AEI A4 1.4404 15 M6x18 22 42 48,1
K0611.102504 Q2o &3 AEQIFA AEI A4 1.4404 15 M6x18 25 45 50,8
K0611.102804 Qo] &% AHQIHA AR A4 1.4404 15 M6x18 28 48 537
K0611.103004 Qo] &% AHQIFA AEI A4 1.4404 15 M6x18 30 54 586
K0611.104004 oo &3 AHQIHA AEI A4 1.4404 15 M6x18 40 60 65
K0611.105004 Qo] &% AHQIHA AR A4 1.4404 19 M8x25 50 78 87
K0611.100403 ofo &% g=0l= - 9 M3x8 4 16 20,7
K0611.100503 Qlfof &3 g=0l= - 9 M3x8 5 16 20,7
K0611.100603 Qo] &% g20lE - 9 M3x8 6 16 207
K0611.100803 o2 &% g=0l= - 9 M3x8 8 18 224
K0611.101003 Qo] &3 g20l= - 9 M3x10 10 24 26
K0611.101203 Qo] &% g20)E - 11 M4x12 12 28 318
K0611.101503 QIR0 &3 g20lE - 13 M5x16 15 34 394
K0611.101603 Qo] &5 o200l - 13 M5x16 16 34 394
K0611.101803 Qo] &% g20)E - 13 M5x16 18 36 41,1
K0611.102003 ofo &% g=0l= - 15 M6x18 20 40 464
K0611.102203 Qo] &3 o200l - 15 M6x18 22 42 4811
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



=eHiI] 2 ol
SEE gl 9| US
EZS 29
FEHS el Ete] 2 "2 AElIF| B C D1 D2 R
(DIN 912)
K0611.102503 o= &3 *20)E 15 M6x18 25 45 50,8
K0611.102803 QIFof &5 g=0l= 15 M6x18 28 48 537
K0611.103003 Q2o &3 g20liE 15 M6x18 30 54 586
K0611.104003 oo &3 g20lE 15 M6x18 40 60 65
K0611.105003 QlFof &5 g=0l= 19 M8x25 50 78 87
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



